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K= 4 25 4 553 133 591 24 1,330 1,206 1103 7,817 7,376 106.0
A H 127 1 260 388 330 1176 2,187 2,039| 1073
H g 8 220 52 134 8 422 432 97.7 2,348 2,366 99.2
VA 9 87 18 27 2 143 121 118.2 724 639 1133
AR 4 2 84 90 99 90.9 525 579 90.7
SUBARU 182 31 213 153 139.2 1,174 1,049 1119
HAINY 1 17 18 30 60.0 103 127 81.1
=7 1 51 1 28 7 88 123 715 440 523 84.1
AN 47 1 1 55 19 123 118 104.2 520 557 93.4
EE5; 49 5 7 17 78 86 90.7 268 255/  105.1
S 5T 41 1 30 20 92 66| 139.4 388 3471 1118
UDKZ 77 A 20 2 22 13  169.2 82 94 87.2
& D [E] PE 20 11 23 54 21 257.1 169 104 1625
i) A H 6 1 175 12 42 5 241 236 102.1 1,199 1,283 93.5
&t (E) 226 12 1,400 312 1,214 0 108 30 3,302 3,034 1088 17,944 17,338 1035
ATAER A 5 (F) 165 13 1,222 298 1,173 147 16 3,034
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1LADBORE (H) 901 79 7,853 1,343 7,282 357 129 17,944

ARG (1) 859 83 7,324 1,312 7,278 393 89| 17,338

F e H/T% 104.9 95.2 107.2 102.4 100.1 90.8 144.9 103.5




